ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Installation Guide
4082L

Kargo Master
Rancho Cordova, CA 95742
800-343-7486
CustomerService@KargoMaster.com

20210630R6 DATE:




ARGO ASTER

WE PUT EVERYTHING WITHIN REACH. |nStrUCtI0nS — 4082L

*PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO ASSEMBLING, INSTALLING,
AND USING THIS PRODUCT.*

Warning

Always check for wires, fuel tanks and lines, brake lines and other important vehicle
functionality items prior to drilling and installing all products.

Tools Needed

1/2” Wrench and Socket 9/16” Wrench and Socket
Table of Contents
2T (o] I o TU N === o TP PRRRR 1
e I PP PP UPRTTPPPRTRR 2
[ 1o LNV T = TP OP PO UPPTPPOPPRON 3
Step 1 — Install Ladder ENG STOPS.....uuuiiiiiieeie ettt e e e e e e e e e e e e et ee e e e e e e e e e e nnstrareeeaeeeensnsnnenns 4
SEEP 2 — INSTAIl FEET ON BOWS ..eeiiiiiiiiee ettt ettt e e sttt e e st e e e e s ata e e e e st e e e e saasaeeessnnaeeeesssaeeeeenssaeesanns 4
Y A=Y B Tl [0 1S = 1LY e [ U TS URPPPR 5
Step 4 — InStall HANGEI BraCKet.........uueiiiiieeie ettt e e e e e e et e e e e e e e e e annerareeeeeeeensnnsnneens 6
Step 5 — MouNt LONG ANGIE BraCKeT ....uveeeeiiiiieiiirieeiee ettt eeeeer e e e e e e e e satrreereeeeeeeeennrrereeeeeesessnnsnssens 7
STEP 6 = MOUNT HANAIE ....uviieeieieee ettt e e e e e e e e aba e e e e e e e e e e absraeaeeeeeeeesansraseseeeesennnnsnrrens 9
Step 7 — MouNnt LatCh ASSEMDIY ......eeiiiiieiee e e e e e e e e s e r e e e e e e e e sennstaaeeeeeeeeeennnneeens 10
Step 8 — Install Ladder HOOK tO BOW .....cveiiiiiiiiiiiieee ettt e e e e e e ettt e e e e e e e s e nstaae e e e e e e e eennnnnenens 10
Angle Pad Orientations and LOCAtIONS.......uuiiiiii ittt e e eeeeerrre et e e e e e e esntsraeeeeeseesesnsnrseseseaeseennnns 12
Clamp Mechanism Orientation and Angled Pad POSItIONS........cciiiiiccciiiiiiecce e e 12
Examples of Ladder Clamps Firmly Against Ladder RUNES ......ccceuiiiiiiieei ettt enrreneee e 12

Before You Begin

e Read all instructions prior to assembling or installing any Kargo Master product.

e Have vehicle specific mount kit installed on vehicle.

e Most times it is easier to assemble on top of the roof, after the mount kit has been installed.
e DO NOT EXCEED MANUFACTURERS WEIGHT CAPACITY FOR ROOF.

e Be sure to adjust ladder clamps accordingly to secure ladder firmly to rack. To adjust, refer to Clamp
and Lock adjustment guide.

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 1



ARGO ASTER

Instructions — 4082L

Parts List
ITEM PART NO. DESCRIPTION Qry.
A 4090L-11 Bow 2
. Long Angle
B 11-03005 L-Bracket 1
C 40800-51 Tube 1
D 40800-52-R J-Tube 1
[ 1 |

E 11-03027 Angle Brkt 3
F 13-03007 Rotating Clamp 1
G 40813-44 Latch Assembly 1
H 13-03008 Handle 1
J 13-03009 Ladder Stop 1

18-4820L Hardware Kit 1

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 2



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instructions — 4082L

Hardware
ITEM HARDWARE TO SCALE PART NO. DESCRIPTION Qry.

1 90295A170 3/8" Nylon Washer 1

2 } 95615A140 3/8"-16 Nyloc Nut 5

3 90126A031 3/8" Flat Washer 5
3/8-16x 1"

4 ” 90185A624 SrEIex | 4
5/16-18 x 2"

5 90185A591 Carriage Bolt 7

6 312 FLATWASHER | 5/16 Flat Washer 11

7 = N

7 \) } 95615A160 5/16™18 Nyloc Nut | 11

| H D zomee | i |

9 40800-10-007 | PLAJIIC BUSHING 1 5
S5/16-18x 1"

10 90185A583 Carmiage Bolt 4
3/8" Contour

11 921844A370 Washer 1

12 BH-821 Sealant 1

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 3



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH. Instructions — 4082L

Step 1 — Install Ladder End Stops

e Skip this step if adding a driver side add on rack.

e Install ladder stops at the end of each bow using 5/16” x 1” carriage bolts, 5/16” flat washers and 5/16”
lock nuts. The end with the ladder stops will be towards the driver side.

Step 2 — Install Feet on Bows

e Have the vehicle specific mounting installed on the vehicle.

e Place each bow on top of the feet in the orientation shown. The driver side of the bow has the ladder
stops installed.

e Center the bow on the van and the feet.

CENTER LINE

EQUAL DISTANCE EQUAL DISTANCE

MOUNT WIDTH

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 4




ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instructions — 4082L

e Using the hardware from the mount kit, attach the bow to the feet. Be sure the feet are using the same

slots on each side of the bow.

Step 3 — Install Side Tube

e |nsert the J-Tube into the tube as shown.

e Place sealant along the swage joint.

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST)

Page 5




ARGO ASTER

WE PUT EVERYTHING WITHIN REACH. Instructlons — 4082L

e Place on top of the installed bows. Have the orientation of the J-Tube towards the front and to the
outside of the vehicle.

el
TY ? 7
i
s %ﬂ,

e Leave on square slot open at the rear of the tube.
e Mount tube assembly to the bows using 5/16” x 2” carriage bolts, 5/16” flat washers and 5/16” lock nuts.

REAR g
1

FRONT

Step 4 — Install Hanger Bracket

e Mount the angle bracket to the underside
of the tube assembly in the orientation
shown using 5/16” x 2” carriage bolts,
5/16” flat washers and 5/16” lock nuts. Be
sure to have the angle bracket offset to
the center of the vehicle.

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 6



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instructions — 4082L

Step 5 — Mount Long Angle Bracket

e Place the plastic bushings on the rotating clamp as shown.

©

e Place the angle L-bracket on top of the bows as shown. Be sure the bend offset is towards the center of
the vehicle.

e Insert the bushings into the long angle bracket and the angle bracket.

S

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 7



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instructions — 4082L

e Attach the long angle bracket to both bows in the orientation shown using 3/8” x 1” carriage bolts, 3/8”
flat washers and 3/8” lock nuts.

= ay

—— 5>
— e —
SEOT A T - '7——" s
E:ﬂ / = / semeld)

LT s ST o T R s
; T—

- r’-
’, : ¥ E—

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 8




ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instructions — 4082L

Step 6 — Mount Handle

e Bolt the handle to the rotating clamp in the order shown using a 3/8” x 3” hex head, a 3/8” flat washer,
3/8” nylon washer, 3/8” contour washer and a 3/8” lock nut. The nylon washer goes in between the
rotating clamp and the handle. The contour washer goes against the handle.

e DO NOT overtighten. Handle should rotate freely.

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 9



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instructions — 4082L

Step 7 — Mount Latch Assembly

e Attach the latch assembly to the rear most square hole in the tube using 5/16” x 2” carriage bolt, 5/16”

flat washer and 5/16” lock nut.

lL A

\" [

lL ’_\l,.,_,.,.,_,_,

Step 8 — Install Ladder Hook to Bow

e Bolt the ladder stop to the front bow using two 3/8” x 1” carriage bolts, two 3/8” flat washers and two

3/8” lock nuts.
e Tighten.

Standard
orientation
shown here.

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST)

Page 10



Instructions — 4082L

GO BACK AND ENSURE ALL HARDWARE IS TIGHT.

YOUR INSTALLATION IS NOW COMPLETE.

Refer to the Clamp and Lock Adjustment instructions to adjust the rack
to your ladder.

ALWAYS BE SURE LADDER IS SECURE PRIOR TO TRANSPORTATION.

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 11



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH. Instructlons — 4082L

Angle Pad Orientations and Locations

Standard
Oritentation

Flipped
Orientation

|
l

Rear-
Facing

Examples of Ladder Clamps Firmly Against Ladder Rungs

e Be sure to position the ladder hook in a way so the hook clamps the ladder tight into place. A tight fit
ensures the ladder cannot fall off the rack.

** BE SURE THE LADDER HOOKS ARE FIRMLY AGAINST THE LADDER STEPS OR RUNGS. **

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 12



